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A # & 36 282 361 282,397 28.9 1 282,514 282,515 29.2] A 118] 100.0
(# 5 8 %) 36 255 096 255132  26.1 1 254 411 254 412 26.3 7200 100.3
(BB F %) 0 27.265 27,265 2.8 0 28103 28,103 2.9 A 88| 97.0
) “® & 788 30,057 30,845 3.2 468 30,442 30,910 3.2 A 65| 99.8
oo or B 0 2255 2,255 0.2 0 2281 2281 0.2 A 26| 989
HENE - BB | 2875 432,350 435234 44.6| 3,230 423 034 426 273 440 8,961 102.1

EBEEREXE 7,338 83,051 90,389 9.3 715 98,429 99,144 10.3] A 8,755 91.2

B E X 1,214 36,363 43,577 4.5 428/ 41,904 42,332 4.4 1,245 102.9
BME X 124 46,688 46,812 4.8 287 56,525 56,812 5.9] A 10,000] 82.4
KEEBREXE 0 1,416 1,416 0.1 0 1,830 1,830 0.2 A 4141 T1.4
B EE 0 1,116 1,116 0.1 0 1,830 1,830 0.2 A 714 61.0
BamEEx 0 300 300 0.0 0 0 0 0.0 300 B8
N & E 0 119,123 119,123 12.2 0/ 118,525 118,525 12.2 598 100.5
# H & 0 4,388 4,388 0.5 0 4,768 4,768 0.5 A 380 92.0
i i & 677/ 8,635 9,312 1.0 809 944 1,753 0.2 7,559| 531.2
< D fth 0 300 300 0.0 0 300 300 0.0 0| 100.0
a g 11,714} 963,945 975,659 100.0 5,232| 963,067 968,299 100.0 7,360] 100.8




